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1y D(sinx)=

@ sinx @ COSX — sinx — COSX

2) Ify =x ™ then y' =

ax | tANnXx anx | fANLX
@ " [ —cchxlnx} @x' [———seclenx:\

X X

x o [ta +sec’x lnx} 5t [tanx
x

+escix Inx :‘
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3) If y =+/3x>—2x ,then y'=

3x -1 3x -1 3x 6x
lElZ\ExZ—Zx @ J3x 2 -2x IZ&Z—ZJ: . N3x % -2x

4) I y =logNx>+5 then y'=

3x? x? 3x 2 3x?
la] 2]

(7 +5)ns — 2(x°+5)ms — (x*+5)5 — 2(x+5)

5y 1f y>+2siny —3x°-5=0, theny’=

6 6x 6
@ o Bl s k-5 4 - ——

3y“—2cosy 3y%+2cosy 2cosy 3y*+2cosy

6) ff(x)=x —2,and g(x)=x —3, then (fg)(x)z
la] x2+5x +6 [6]x%+7x +6 []x?-5x +6 [d]x*-7x +6

lim>— (limax —w,a>1lima* =0,0<a< 1)

7) x—>005 X —>0 X —»0

a] » []1 does not exist 0
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8) fy=3""+e " ,theny'=
a _3%% csex cotx In3—2xe™ 179__] 3% csex cotx In3—2xe ™
a _3%%% csex cotx —2xe 3% cscx cotx —2xe ™

9) If y :2\/36—— 3—1—;7theny'=
X




10)If y =tan™ (x )+ cos™ (e* ), then y ' =

@_ 12_ exe @ 1 e

1+x 1—e?* Jl _e?
1 e”
1+x2_ﬁez’“ .— 1—e®
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iy L=
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12) csc (c:os‘1 (in =
5
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13) The number ¢ in (0,3) which make the ﬁmctlon f(x)=x2+3x —4 satisfy

Mean Value Theorem on [0,3] is

3 1 1 3
@-2 B-1 @5 @l

l'mx Z4x -2
14)x-+13x2 2x — 1

4
@ does not exist @ 1. —i— : 5

15)Iff(x,)=\/;,and g(x)=tanx? then (g of )(x)=

la] Vtanx [b] tan x Vtanx? tan/x

16) Find the range of the functionf (x ) =~/x —3.

[al (-0,0]  BIR=(-0@)  [][3)

[0,%0)

17) The inverse of the function f (x)=2x +3 is

fal i) == Bl ) =222
| -1 1 1 1
] £ == ] )= —

18)If y =x cos’(2x ), then y'
la] cos? (2x ) cos(2x )~ 3x sm(2x )] [6] cos?(2x )[ cos(2x

cos’(2x )[ cos(2x ) - 6sin(2x )] cos” (2x )| cos(2

)+ 6x sin(2x )]
) 6x sin(2x )]
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20) The tangent line equation to the curve of f (X ) =

y =2x -3 @y=—2x—l
y =-2x +1 y=2x+1

al > at the point (1,—1) is

[1[=]

21) The critical numbers of the function f (x )=x 3+3x7-9x +5 are

-1,3 ] -3,1 +3 +1

=]

22) The function f (x )=x 34+3x2%—-9x +5 is decreasing on
13 bl sy (c2,-)UQL®)  [d] (0-DUG®)

=]

23) The function f (x )=x’+3x 2_9x +5 is increasing on
al 13 B] 3 (~0,-3)U (1,0) (~o0,~1) U (3,0)

24) The function f (x )=x>+3x 2 _9x +5 has a relative minimum value at the point

al .o ] (322 LD (-3,32)

25) The function f (x )=x>+3x*—9x +5 has a relative maximum value at the point

[ 0 ] 322 w1 (-3,32)

26) The function f (x )=x>+3x?—9x +5 has an inflection point at

a] (-1,16) ] @16 (-1,10) la] wo

27)The graph of f (x)=x>+3x?>-9x +5 concave downward on

a] (Lo) ] @) (a0,-1) (0,1

28)The graphof f (x)=x>+3x?>-9x +5 concave upward on

a] (L) ] 4w (0,-1) )

x+5
x*-Tx +6

RV} B R\{23}  []R\{-3,-2} [ R\{-6,-1}

29) Find the domain of the functionf (x ) =

30) The solution of the inequality lx — 4l >3 is

[a][1,7] Bl (1,7)
(~0, ) U (7,0) [d] (—0,1]U[7,0)
31) lim sin(5x ) _
*-0 sin(3x )

3 5
@g b]3 ] 5 ‘_5,‘




32)Iff (x)=7x7,then f'(x )=

2 2 2 2
@ﬁmﬂx +h)Y +(7x7) @Hm7(x +h) +(7x7°)
x>0 h h—>0 h
2 _ 2 2 2
h.m7(x +h)Y =(1x7) lim7(x +h) =(7x7)
h—=0 h x =0 h
x3
33) The function f (X )=—; is
xX“+5
@ Even @ Odd Even and odd Neither even nor odd
_ x+1
34) The horizontal asymptote of f (¥ )= is
3x +1
1 1 1 1
dy—-1  Be=l Ex—-1 =g

35)If y =(2x2—1)5,theny =

[a] 5(2x2-1)" [ sx(2x*-1) [c]20x (222 -1) 20(2x2-1)'

36) The vertical asymptote of /(X )= x +1 is
3x +1
1 1 1 1
@y=—§ @x-‘—g x=—§ y=§

37) The equation of the line passes through the points (5 , —2) and (3, 4) is
@] y=-3x+17 [ply =-3x+13 [c]y=3x+4 [d]y=3x-13

38) function f (x ) = cos™'(x —5) is continuous on

[al[4.6] [B] (-64) [l (46) [d][-6-4]

39) The absolute maximum point of / (x ) =3x 2_12x +1in [0,3] is

la] @,-11) ] 0.2) 2,-13) ©,1)

40) The absolute minimum point of f* (x ) =3x 2_12x +1in[0,3] is

[a] @.-11) 6] 0,2) @2,-13) ©,1)




